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N F-2ri— K4 It S PR Fdk =ACb
1 3329 BB #igE ~omw vy 2 SR 45447
2 3334 B R~y 2 ZEH 457.06
3 3508 KM &3 wrar 2 ABWEF 51973
4 3259 HH HTF vrv= 2 AJEH 52098
5 2101 Bmb ZE »v~ 73 3 ®HT 53266
6 800 Fd BR w7 2 BEEHAH  537.60
7T 924 BRA AR wrevs 2 BfuH 54107
8 2103 FHE FRR v <+ 3 HHT 5.43.22
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HFZ24F  100mMH (0.762/8.00)

B 2R (K]) 14.05  HA AR -Z5T) 2013

FALL—R  2H
144 B (+1.1) 248 & (-0.5)

L=y FuR— K4 7Vt A Prig gz ik IAVR L=y Fun— K4 VAL = iz AL ik A
1 #N/A  HN/A = #N/A 1 #N/A  HN/A = #N/A o
2 937 IiH B rrrar 2 BRH 4 1934 2 #N/A HN/A = #N/A o
3 49 A& fEF vverav 3 BB DNS 3 882 Il W& 702 v+ 2 FIRT 3 2011
4 2131 HUEN & e e 3 SEAMET 1 1568 4 2193 AT AL ovror 3 ABEH 1 19.07
5 3214 \K W ~vroax 2 BFALHR 2 1745 5 436 HA H5W weow 2 XEF 2 1932
6 52 Wikt Hafh =ev= 3 FEEAH 3 1831 6 2413 KAK MDH) rrev == 3 MMRER 5 22.01
7T 874 Uik W o=yvyr 2 FIRF 5 2214 7 2187 MH BE e 1| ABEFT 4 2139
8 #N/A #N/A =~ #N/A 8 #N/A  #N/A = #N/A o

i ativA:7VA
JIERE Fors— K4 AL = S gk AR
1 2131 HERN FH rwonrvem 3 ZEXKEF 15.68 JE +1.1)

2 3214 AR W¥ r~vr =22 2 EFIEH 1745 @ (+1.1)
3 52 BAT HAfh =z e 3 BB 1831 A ¢+1.1)
4 2193 ¥rH BTE srorex 3 RUEWEH 19.07 @ (-0.5)
5 436 BA HY w2 XEF 19.32 A (-0.5)
6 937 WA B vrrar 2 BRHF 1934 A (+1.1)
7 882 Bl R 7vav vv 2 EIRF 2011 & (-0.5)
8 2187 MM B A w1 AEEHF 2139 M (-0.5)
RUEREIE—-LTCUUE A AUdR
I 2131 JHEP @ rewevee 3 SEAMEF 1 15.68
2 3214 \K W ~v» oax 2 BBIF 2 1745
3 52 Mft Hafk =wreer 3 WESP 3 1831
1 2193 FYN BTG svroon 3 AJFWEH 1 19.07
5 436 BA HHY weovw 2 XEH 2 19.32
6 937 WA BZE rrrar 2 BRF 4 _ 19.34
7 882 )l R 7wy vr 2 EIRF 3 20.11
3 2187 MH ¥ #»7 w=~ 1 AEETR 4 21.39
9 2413 RAK ETH ~ooe == 3 RAPREH 5 22.01

10 874 /g B =y oy 2 EH 5 22.14

1 49 HA& fET vv=r =~ 3 BEEF DNS
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